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1 EE —X /N =] 37 37 74
2 hft EBE Ml 40 36 76
JIFM EA MR 37 40 77
4 85K E—BEF [@ET 41 38 79
Al EF finta™h 41 38 79
&)l RE BEHTH 39 40 79
B 1E(E NI 39 40 79
SH# EH & 38 41 79
IFTE REA FEH 39 41 80
10 E# HBE FEH 43 38 81
R FIE AN ] 43 38 81
=% &b INFHKH 41 40 81
AH EHhE fELLT™H 41 40 81
14 Bk NEF] el 43 39 82
AL =& FEM 43 39 82
X% &M RAEER 39 43 82
=Zf B ke 39 43 82
18 /hth EH2Z i 45 38 83
FW KA FEH 43 40 83
ik B == 111 43 40 83
Z2E B AREEM 42 M 83
s #* EET 42 A 83
=B 6S fatE™ 41 42 83
FE EF HARM 40 43 83
PEE A nallG: 38 45 83
26 FRE E# ke 45 39 84
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=5 Al fotE™ 41 43 84

29 BN $hth BEERT 45 40 85
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BR EE SR o] 45 41 86
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]|RK F2X FEM 43 43 86
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40 K@ IER i 44 43 87
e Bz HrFh 44 43 87
X Ez i 42 45 87
k% B— INFHKTH 42 45 87
44 R TX BHH 47 4 88
hft B FEH 46 42 88
e 2R BEEH™ 44 44 88
E7 fl FEH 44 44 88
Ey E— FEH 43 45 88
ZFER &M EN#aH 41 47 88
FE —= HRM 41 47 88
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51 &R &7 M4dEH 47 42 89
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Rk = fatE™ 44 46 90
63 {7k B— i 43 48 91
64 Mk NH B am 48 44 92
65 AL 157 ERM 52 41 93
66 {43 Bk ™ 46 48 94
67 1AE BE ERM 49 46 95
68 RHE E— g™ 51 47 98
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